EARAROBEEIERT — 2 N— IBISH —F

20175128178 (H) SHEFR#6H

LNl Y R 2 %

KR EE] B

‘ [R1%] & ‘ [REBE] — | Z (%) 20000 B

[A®4] 1 % :5,000,000 @ ~ 2 7% :2,000,000 M

/33 11,300,000 @ 4 3% :750,000 @ 5 & :500,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
2 i = st 2 | BEAXE 2:02.3 1-1-1-1 | 35.9| 84.0 | 3 458 | ALHRA (BER)
1 > PIRAYAE AN 55.0 - 2 | B 7Y T7—L
RFA—TZAAA B:TUU 799577 — I
P P 4t 2 | C. Jbx—Jb 2:02.6 11-11-10-9 | 35.1 | 81.0 | 1 472 | REREX (EH)
27|10l EFY FFES b 55.0 ® 2) BEAA SIS
LF=TANNT N BRVHAF TR J—HrTr—LA
— . MAZB= . _13-11- BAZERE (EXR)
N BPZISEIN o2 e 2(/(\)3? 13-13-11-10{ 34.9 | 81.0 | 2 (4_964) are
LNnN—ErYv— BIVLZT J=HrTy—L
SIS s 2 | AHEERH 2:02.9 3-4-3-3 | 36.1| 78.0 | 6 446 | FIIEZE ()
417111/ B—KYIN2y 55.0 @) (2 | O-Fx-2757
R:T7ReL YT w8 B:3INT4— KRNI wA MEE
SSa A a FERER :03. ~6-5- . . ABER— (ER)
5157 7AIYL TR [B] o2 == (21013/41) 5-6-5-6 |36.1| 76.0 | 5 (4_53 e, A
LN=VT754 B:JrlR=aq MRAEHE /XX
o BHZ :03. -9-8- . . FEEfRS (FER)
6 gl9r—g—IHER o2 i (21013/43) 9-9-8-6 |36.0| 74.0 | 10 ?éss mmg—
R:tr/0704 B:7r—FU-— [Ed=tie)
S5, = 4t 2 | AEER 2:03.5 7-6-5-5 |36.6| 72.3 | 8 458 | EEB— (RR)
7 4 AZXJL I F 55.0 (1 1/4) (0) ARSI EE
:T4 7 hNT=EY BAZISXTITT— Sltae]
5 # 2 | C. 74—0O 2:03.6 7-8-8-6 |36.3| 71.2 | 4 438 | Y (ER)
8|g[13 7T~ TAF—X 54.0 ) Co) | @) T
RYUST R BisATAE Y- REYa=Fp=b
> 4 2 | EREN 2:03.9 2-2-2-2 | 37.3|69.0 | 9 474 | E+EEB (EH)
9 3| YA RINy B — 5.0 ©) 4y | HR) FITLKTST 5747
R:F—TTVI>F Bix—F42RU—F =15 &
S # o2 | EPR 2:04.1 3-3-3-3 |37.4| 67.2 | 7 486 | BIRE (ER)
10011V 2T~ 55.0 A 1/4) o) | @ G1L—s>y
R:A—-Kp+A7 B:7114KLAY—> (B) #HAEIA-FKL—va>@AE77
— 4 2 | BAUGAF 2:05.5 5-5-5-10 |38.3| 55.5 | 12 | 416 |SHE— (BXR)
111 8|12 Fa7Y=— 54.0 (9) 42) o ]
L:7—vT7x—Z B:773dU—% J—HrTr—L
— NNBE= —11-13- REEIETE (3E78)
1l5l6| 7HTF—F 141 o2 e (21035/.5 12-11-13-12| 38.0 | 52.4 | 11 :?2) AR
L4140 B:NF/IAY—H X INTy—L
PN =Rk :07. -10-11- . . 1EREER (FR)
3 0| SVUET Y2 o2 e 2(077)0 9-10-11-13 [ 39.2 | 44.1 | 13 (4_6;3 e
L:vavFrrhrT BiFeFdya S5k e
@ 71 L
) 47.9-35.9
NA> 24 L | 12.8-11.4-12.8-12.6-12.5-12.3-12.0-11.8-11.8-12.3
® I —F—@EBIERL
13=7r= 2,3(1,11) (7,12) (4,13) (8,9)10,6,5
2al=5F= 2,3,1,11,12(4,7)13,8-9(6,10)5
Gal=7r= 2,3(1,11) (4,7,12) (8,13)10(9,5)6
41—+ — 2,3(1,11)4(8,7,13)10(12,5)6,9
[ RN
B OB 2 520M 714K 2-10 290M e & 2-7 730M &R 2-5-10 510M
8 B 2 1309 2-5 190M B & 2-10 890 3B 2-10-5 4,600
10 120 5-10 160M B H 2-10 1,870M
5 110

ABICOVWTRDTEEERROODE. TR LIV,




